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Aufgaben-Quickname: 5085

Aufgabe 1
Quick:
5085

Gib die Geradengleichung zu der dargestellten Geraden an.
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Geradengleichung: y = −x− 1

Aufgabe 2
Quick:
5085

Gib die Geradengleichung zu der dargestellten Geraden an.
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Geradengleichung: y = −x + 9
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b)
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Geradengleichung: y = −1
2x + 10

oder mit Dezimalbrüchen: y = −0,5x + 10

Aufgabe 3
Quick:
5085

Gib die Geradengleichung zu der dargestellten Geraden an.
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Geradengleichung: y = −2

www.dw-aufgaben.de Seite 2 bsp-5085-1/ZAWB



LÖSUNG zu bsp-5085-1/ZAWB

b)
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Geradengleichung: y = −1
2x− 6

oder mit Dezimalbrüchen: y = −0,5x− 6

Aufgabe 4
Quick:
5085

Gib die Geradengleichung zu der dargestellten Geraden an.
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Geradengleichung: y = 1
2x + 3

oder mit Dezimalbrüchen: y = 0,5x + 3
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b)
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Geradengleichung: y = 1
2x

oder mit Dezimalbrüchen: y = 0,5x

Viel Erfolg!
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